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MATHEMATICS - Grade 10 Trigonometry

(Bxtended for 0° < @ < 360°)
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TRIGONOMETRY- Grade 10

1. Trigonometry 2. Trigonometry (2D)

Define the tngonometric ratios sin @, cos # and tan &

using the right — angled triangle

Extend the definitions of sin 8, cos 8 and tan & for 0° < @ < 360°
Define the reciprocal of the trigonometric ratios cosec 8, sec 8 and cot 8, using the right-
angled triangles (these three reciprocals should be examined in Grade 10 only)

Derive values of the frigopnometric ratios for the special cases (without using a calculator) #
€ {0°, 307, 45°, 60°, 90°}

Solve two-dimensional problems involving right-angled triangles (See Term 3)

Solve simple trigonometric equations for angles between 0° and 90°

Use a diagram to determine the numerical values of ratios for angles from 0° to 360°

1. Solve two-dimensional problems
involving right- angled triangles

2. Problems in two dimensions

3. Examination Guideline

1. The reciprocal ratios cosec @, sec #and cot & will be explicitly tested in all aspects: definitions,
function values and equations.

2. While the focus of trigonometric graphs is on the relationships, the characteristics of the graphs
will also be examined.
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Trigonometry (Definitions Extended for 0°s8<360° ) - GRADE 10

Exercises - A
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Trigonometry (Definitions Extended for 0°<6<360° ) - GRADE 10

Exercises - A

Exercise A
QUESTION 5
5.1 In the diagram below, P(x ;)) is a point in the third quadrant. ROP=4£ and
1Tcos F+15=0.
¥
N
0 R
-
Plesn
‘
511 Write down the values of x, ¥ and r.
312 WITHOUT using a caleulator, determine the value of:
(&) sin &
(b) cos® 30°.tan f
5.1.3 Calculate the size of ROP correct to TWO decimal places.

So{u% bi

S . ) ) M C@SB/"‘S: O
C@S\% = — )_g,
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43“:— 2
= -\S) =" % =\
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Trigonometry (Definitions Extended for 0°s8<360° ) - GRADE 10

Exercises - A

Exercise A
QUESTION 5
5.1 In the diagram below, P(x ;)) is a point in the third quadrant. ROP=4£ and
1Tcos F+15=0.
¥
N,
0 R
-
Plesn
‘
511 Write down the values of x, ¥ and r.
312 WITHOUT using a caleulator, determine the value of:

(&) sin &
(b) cos® 30°.tan f

Calculate the size of ROP correct to TWO decimal places.

g'/ 7(593\‘4)3 fﬁ

S\MB - _ ¥
&i/_)) CﬂSLZ()a /Lo\v\jb

=(ns) 'C}‘g’) Siaf3 I
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Trigonometry (Definitions Extended for 0°s8<360° ) - GRADE 10
Exercises - B

Exercise B 17/4_ \/7/; v T
Cg\)z',k\(n’.‘/ (ﬂfb

4.4 Giventhat Scos f—3=0 and 0"<f<00" _
If o +f =90% and 0F <@ <907 calculate the value of cot a. ﬁl/ﬂ /}—Qv\bé = l
( BSTC TA¢ J—t > Lt
O ‘ - A S
%C u&wvx g & »/Jr_;tdwb (ot :%
S OS% 7>: © ‘T+ cr OL ) p
L g ‘LU oL=40—pP
(oY = 2 o
S Y 0 N A OQ (/
| - Y
0 - ) +
T S
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Trigonometry (Definitions Extended for 0°s6<360° ) - GRADE 10
Exercises - C

Exercise C

QUESTION 4

4.1 Given deotéd+3=0and 0° =& <180°

41.1

4.1.2

Use a sketch to determine the walue of the following. DO NOT wse a
caleulator,

() cosd

3sin&scc

(b -

Henee, show that sin =1 & =cos*d.
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Trigonometry (Definitions Extended for 0°s0<360° ) - GRADE 10

Exercises - C

Exercise C @ 2 S;\A@ Sece
—
~AaNQ
QUESTION 4 NLX > < ?
4.1 Given deotéd+3=0and 0° =& <180°
411 Use a sketch to determine the wvalue of the following. DO NOT use a ( )
calculator,
() cosd ~ - L" fﬁ-
, Cu (-
(b) 3sin fsoc

tand

4.1.2 Hence, show that sin*(f =1 & =cos ™0 .

Mﬁi\/-

— O — Sinte—|
R T O = (£ /
Cok 3 =% .

— (i/ _\(OS‘L—@ L
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Trigonometry (Definitions Extended for 0°<0<360° ) - GRADE 10
Exercises - D
Exercise D M
7z .1 = 207 Seta +Siut
12 ?];(_3 ;T-!] ixapcl:int on the Cartesian planc such that 05 makes an angle of € with .3 2 . / Z, /{’7[ — Y 2 z z g g S, \/\g& (Ql
& positive x-axis. o + l —/— S _ ¢
(N CH (1) =7 < %) FC5)
25=" == 4l
s Loz
§(-3; 4) E — § — -’iﬂg—g ‘IL'—[—'K'K-—?L
Caleulate the following WITHOUT using a calewlator; [ 69-5 — S l/\b\';‘g é Zj ZS g
321  The lengthof OS - "lfz//j "— i’:
322 The value of sec 6+sin’ 8 B ¢ 7S
= —(2S ’\’L['g
15
_ -
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Euler's Identity
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